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(a) What is social inequality ?
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(b) What does Article 46 of the Indian
constitution relate to ?
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(c) What is the fullform of LPG ?
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(d) Mention any one objective of

/‘s\igberahsatlon
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\ 5 (e} an,‘e one cause of Youth Unrest.
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() The female literacy rate in Assam
according to 2011 Census is 66.27%.

(Write True or False)
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(g) In the :
yedL the universal

declaration of Human Rights by United
Nations was published.

(Fill in the blank)
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() Name one of the sources of air

pollutants found in our atmosphere.
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(i) Write one means of controlling ozone

depletion.
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() Write the full form of @Qf
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(a} Write the main points of the Article 28

of the Indian constltutlon
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(b) Write any two pm}
the street ch'ch;err»:
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(c) Mention two causes oI globalisation.

ns of educating
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(d) Write two objectives of privatisation.
JIfereswem 751 Sraey oyt

(e) Write two causes of Water Pollution.
ST ENCIN 7T it forat |

Write short noteg op any four of the
following :

5x4=20
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(@) Causes of gender disparity in India.
ORS ol tamre ez |
(b) Impact of privatisation in education.
Frre festomem sror|
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(c) Characteristics of globalisation.
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(d) Educates unemployments.

fAifFe foeat
(e) Roll of mass media in environmental

protection.
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(f) Types of youth unrestg
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What is meant by child labour ? What are

the main causes of child labour ? Discuss.
2+8=10
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Discuss the Consequences of social
inequality in education. 10
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5. What is liberalisation ? Write down the

characteristics of liberalisation. 3+7=10
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"\ pi What is' ﬁl’eant by sustainable development ?

\ ‘Wziite down the principles of sustainable
~ ~,.mn A

'Hevelopment 3+7=10
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6. What is examination anxiety ? Discuss about

the various causes of examination anxiety,

3+7=10
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Discuss indetails about the caﬁses and

consequences of population explosion in

India. 5+5=10
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Discuss the role of onon m\ -
protection and preventi < /_\

education in India and provide suggestwns

6+4=10
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